SEIWA 1/9

S| |Res
i PA0019 fIR&/#u7HyAn’ =Y (JC-3018KB/3515KB/3518KB)
& |SBa—F =S . 7E il ikl )
PA0019 1

01 220344  |PA0-4 G&&h V) 1 ¥69,000| (%) fTEMm C
02 3915498 |#E% /2" b 1549 (SUS) 1 ¥4,000|JC-3018KB (#F) ftEMm A3
03 3915378 |#&#& /2" b 1537 (SUS) 1 ¥4,000|JC-3515KB (#F) ftEMm A3
04 3915435  [3£% /2" b 1543 (SUS) 1 ¥4,000|JC-3518KB (#F) ftEMm A3
05 221530 |3° Lk-2 (9HH) 30m 1 | ¥180,000| (#%) ftEm C
06 220380N  (4)7-74 5~ (JC) 1 ¥12,000{ (#%2) f+/Em A3
07 429001  |mRoKA-2(3/4) (F8) 1 ¥7,080 (X) f+EMm P
08 429003  [FRIKA-R(1/2) (FB) 1 ¥3,360| (XR) HES P
09 429002  [B%IK7415-(JC) 1 ¥3,360[ (X) HEM P
10 420478 |TERE%(JC) 1 ¥420| (X) HEM P
11 780030 (A RN $30 1 ¥1,800[ (X) ftEM P
12 781922 (AN $19x 22 2 ¥960| (X) HEM P
13 422705 |1v¥" v7" -1)-(JC2028GS) 1 ¥24, 000 P
14 422708  [VA" b (3V-500) (JC2028GS) 3 ¥5, 640{3018KB P
15 422715 |VA" bb (3V-530) (JC3515GS) 3 ¥5, 400|3515KB/3518KB P
16 423004  ($EEH7° Y- (JC3012G) 1 ¥38, 400(3018KB P
17 422716  |5€217° -')- (JC3515GS) 1 ¥66, 000|{3515KB/3518KB P
18 423022 |3 v7° (TWS55508) (JC3012GS) 1 | ¥300, 000 P

KEFHTIA, TEXDRRIF, a—FNoERMBZEHARCESVET LS. BEVELET,
XmBENEROGE. EEBEEEM<GTYET,

BHEERARL AH/EREBIRX AS5-12-7 TEL:03-3638-6911 FAX:03-3638-6921
Bkt v & —/ERiE BRI T PR X K AFRET1348 TEL:053-485-6181 FAX:053-485-6180



SEIWA

2/9

k]

itk ]

B

BA0086 ki

S H& (JC3018KB/3515KB/3518KB)

BHEERARL AH/EREBIRX AS5-12-7 TEL:03-3638-6911 FAX:03-3638-6921
Bkt v & —/ERiE BRI T PR X K AFRET1348 TEL:053-485-6181 FAX:053-485-6180



SEIWA 3/9

S| |Res
B BAQ086 Mt/ 5% SE &R (JC3018KB/3515KB/3518KB)

29 422702 |& v7° A" -2 (JC2028GS) ¥24,000

30 821100  |7<A&F WIM10x 100 (& S3% Wb) (JC3515GS) ¥360

1
3
31 850010 [/<ATyM10 3 ¥60
32 422701 |ty A" -2 (JC2028GS) 1 ¥43, 200
6
4

33 423010  |BA#&3" 4 (KA-30-26h) (JC3012G) ¥1, 680
34 829820  (73vY" F7NFF WIMS % 20 ¥120
35 851008  |73vY" fH7x Ty M8 16 ¥120

KEFHTIA, TEXDEIFE, 3—FNo&RBZHAT/CESVET LS. BEVLELET,
XamBENMEROGE. EMBEEEMCTYET,

& |SBa—F =S . 7E il ikl )
BA0086 1

01 422806  |TIvY" VIT-9Y-+-*UTHUAN 4 (3018KB) 1 ¥9, 000 P
02 422803  |hy7" 1 41k (3018KB) 1 ¥24, 000 P
03 422812 |H&HAERFAP-197-1-4 (F&) (3018KB) 2 ¥420 P
04 432641 |39 %y MryFC-100-B-2 (TGC-22P-S1) 2 ¥720 P
05 806308 (N AEEEAFIAT AV M3 X8 4 ¥60 P
06 819410  [+=Fy{FPI2/N4Y" MAX 10 12 ¥20 P
07 853004  (Uty M4 12 ¥180 P
08 820820P |+=FyR{FARHTYT MY P=3 M8x20 B 38 ¥60 P
09 422807 (1Y UEANTANA-FUTFUAN 40 (3018KB) 1 ¥9, 000 P
10 422804 |71+ (3018KB) 1 ¥16, 800 P
11 422802  |#4} " #UR (3018KB) 1 ¥28, 800 P
12 422808 |~ khAn" - (3018KB) 1 ¥36, 000 P
13 829816  (73vY /X FEK MIME x 16 2 ¥120 P
14 422800 |7L-L(3018KB) 1 | ¥110,000 P
15 422801  |#4} 1" #ML (3018KB) 1 ¥28, 800 P
16 422805 |& V7" HMAUTHUAN 40k (3018KB) 1 ¥9, 000 P
17 829608A (77vY" fF/NEF I M6 x 8(8) 4 ¥120 P
18 856006 %%ty M6 2 ¥120 P
19 862006 |\ AEEEM6 4 ¥60 P
20 421699 [N yTU-EEEE (GLB) 1 ¥2, 160 P
21 421689 [T 4 I M6 x 180 (JC2028GS) 2 ¥240 P
22 850006  |7<fty M6 2 ¥60 P
23 422709 N y7Y- G&RAE) (JC2028. 3018. 3515. 3518GS) 1 ¥64, 800 P
24 422809  |%+25-¢ 130 (3018KB) 2 ¥5, 520 P
25 422811 |B7E¥124-L ¢ 130 (3018KB) 1 ¥12, 000 P
26 422810 |B7E*v23-R¢ 130 (3018KB) 1 ¥12, 000 P
217 821025 |/NAK WIMI0 x 25 16 ¥120 P
28 862010 [\ #EEEM10 16 ¥60 P

P

P

P

P

P

P

P

BHEERARL AH/EREBIRX AS5-12-7 TEL:03-3638-6911 FAX:03-3638-6921
Bkt v & —/ERiE BRI T PR X K AFRET1348 TEL:053-485-6181 FAX:053-485-6180



SEIWA 4/9

S| |Res
B BAOO85 HE:##% 7.0-4 &8 (JC3018KB/3515KB/3518KB)

BHEERARL AH/EREBIRX AS5-12-7 TEL:03-3638-6911 FAX:03-3638-6921
Bkt v & —/ERiE BRI T PR X K AFRET1348 TEL:053-485-6181 FAX:053-485-6180



SEIWA 5,9

S| |Res
i BAO085 Mt %#% 7on-4 &B (JC3018KB/3515KB/3518KB)
& |SBa—F =S . 7E il ikl )
BA0085 1

01 423002  |7vm-%"-VB350 (JC3012GS) 1 ¥49, 200 P
02 401673S |1 3/8PTM x 3/8PFM (GP) (GP) 1 ¥4, 320 P
03 421074 |I)MF 1/4PTMx 1/4PTF (B3 1£) (JC-GL) 1 ¥1, 560 P
04 422310 |B®hIT4RtyH(JCT00, 150, 200GL) 1 ¥4, 200 P
05 422711 [Y5-v%" 3{v M /2PTF x 1/2PTM (3018GS) 1 ¥6, 000 P
06 422303 | DF=y7° M (JC100, 200GL) 1 ¥660 P
07 421072S |z 3/8PTM x 3/8PTF (SUS) JG100, 1011, 140G 1 ¥5, 520 P
08 437563 N 9-%"Yy7° (SGTH, SGT6, 150, 200GLB) 2 ¥120 P
09 437564  |F1-7° ¢ 10 x 250L (SGT5, 6, 150GLB) (:&EHA) 1 ¥300 P
10 438736 |1l 1/2PTM x 1/2PTF (JC100GL, GLB) 1 ¥1, 800 P
11 420878  |¥9¥avyTy 77 5-1/2PTM x 3/4PFN 1 ¥3,120 P
12 422710  |E 15t (60Mpa) T4 1/4(3515GS. 3018GS) 1 ¥20, 400 P
13 420879 |1k 3/8PTM x 1/4PTF (CTJ1612G, TGC-22PSI) 1 ¥3, 000 P
14 421574  |ZEY 34V +3/8PTM x 3/8PTF (1516G0) 1 ¥1,080|AB25702~ P

XEFHTTHA, TEXDRIE, a—FNoERBZRARCESVET LS. BEVLELET,
XamBRNEROEE. EEBETEMGYFI,

BHEERARL AH/EREBIRX AS5-12-7 TEL:03-3638-6911 FAX:03-3638-6921
Bkt v & —/ERiE BRI T PR X K AFRET1348 TEL:053-485-6181 FAX:053-485-6180



SEIWA

6.9

k]

itk

B

BAOO74 ki & »7° TWS55508

8¢ g =2

=

10—

11—

Solo / Only 12\5

5050 B~
5550 5

7040 S 1‘—‘@

Y 15—

—feo

- _.__‘_\c‘

21

UON

S
e
S

52 &3 | S VERSION
56 @ 24 mm

57 58 59

32 55 58

101

103

BHEERARL AH/EREBIRX AS5-12-7 TEL:03-3638-6911 FAX:03-3638-6921
Bkt v & —/ERiE BRI T PR X K AFRET1348 TEL:053-485-6181 FAX:053-485-6180



SEIWA /9

S| |Res
B BAO074 #EiF#% 4 7" TWS5550S

HE &Ba—F =S
BA0074
01 423402 |%vy7° G1/4” (FWS40306)

04 423144 [799%16.7 x 22 x 1. 5mm (LWS3514G)
05 423142 |%vy7° G3/8 (LWS3514G)

06 423146 [799+21.2x 27 x 1. 5mm (LWS3514G)
07 423145  |%vy7° G1/2 (LWS3514G)

12 423107 277 Y)vh" (LWS3525G)

13 423106 | 7" 77 b-b (LWS3525G) ¥530
35 423161 [HWT" 197" 274y (LWS5550) ¥1, 080

B Eff %
1
1
1
1
1
1
6
6
1
36 | 423412  |£"zkutyh (FWS40306) 3 EE
3
3
3
3
6
1
1
1
1
1
1
1

™
3

¥600
¥200
¥1, 200
¥230
¥1, 200
¥50

37 423413 |t° AbU7yY% (FWS4030G) ¥150
39 423415 |7KE)7yY+ (FWS4030G) ¥180
40 423416 |0Y»%"1.78 x 7. 66mm (FWS4030G) ¥60
41 423417 [N yh797° YUy (FWS4030G) ¥110
47 423147  |29"1-M6 x 20 (LWS3514G) ¥90
48 423109  |0Yv%" 2. 62 x 20. 24mm (LWS3514G) ¥110
50 423141 |0Y»%" 2 x 14mm (LWS3514. 3525G) ¥40
51 423142 |%vy7° G3/8 (LWS3514G) ¥1, 200
101 | 423501 | 2" KIT (TWS5550S) ¥22, 800
102 | 423502  |Y-MKIT (TWS5550S) ¥27, 600
103 | 423503 |t ARUKIT (TWS5550S) ¥28, 800
104 | 423504  |#4hy-IKIT (TWS5550S) ¥13, 200

KEFHTIA, TEXDOEIFE, 23— FNo&RBZEHATCESVET LS. BRALELET,
XamBENEROGE. EMBEEEM<TYET,

v|VvYW|™wW|VUYW|™UW|UW|TW|UWW|(|™TW|UW|TTW|OW|T™TW|OW|T™W|OW|(|T™W|OW|TOW|TO|O

BHEERARL AH/EREBIRX AS5-12-7 TEL:03-3638-6911 FAX:03-3638-6921
Bkt v & —/ERiE BRI T PR X K AFRET1348 TEL:053-485-6181 FAX:053-485-6180



SEIWA 8/9

ek DD Tk
B 423002 7v0-%° -VB350

-
o4

\\
p. 4,
\
c

f \<~\§)

4
Y-

BMEEKRASHT A4/ FRIWIERX KE5-12-7 TEL:03-3638-6911 FAX:03-3638-6921
Bkt v & —/ERiE BRI T PR X K AFRET1348 TEL:053-485-6181 FAX:053-485-6180



SEIWA 9,9

ek D Tk
B 423002 7v0-%" -VB350

H% | SB3—F B4
00 423451 |)A" 74y (VB350)

01 422060  |¥" 3{v}(VB350)

02 421396  |0Y»%" 1. 78 x 15. 6 (VB350)
03 421393 (27" Y)v%" (VB7/VB350)

04 422061 |t v (VB350)

05 422062 |0Y»%" 3 x 6 (VB350)

06 422063  |aA" —#-(VB350)

07 422064 |0Y»%"1.78 x 14 (VB350) ¥210
08 422065 [ 7 4 (VB350) ¥19, 200

# E i £ R4
1
1
2
1
1
1
1
1
1
09 421397  |¥-+(VB350) 1 ¥1, 650
1
1
1
1
1
1
1
1
1
1
1
1
1
1

¥9,240]2.5.7.9.10.11.13. 14. 18&
¥3, 600
¥210
¥340
¥3, 240
¥210
¥2, 640

10 421398 |t" v (VB350) ¥5, 280
11 422066 |0Y»%"1.78x17.17(VB350) ¥210
12 422067 |aN -#-Yvh" (VB350) ¥2, 280
13 422068 |¥-+(0Yv9" ) (VB350) ¥1,190
14 401972 |0Y»%9°1.78 x 20. 35 (A-n" 4% /2" )b. VB350) ¥360
15 422069  |t" AbUilA - (VB350) ¥8, 520
16 422077  |1E&4Y" (VB7/VB350) ¥180
17 422134 |Y5" M27 x 1 (VB350) ¥1, 560
18 422120 |E°ARUY-IMI X 14 x 2. 2 (VB350) ¥1, 230
19 422121 |E" AbUM8 (VB350) ¥4, 080
20 422122 | -W11/32(VB350) ¥740
21 422123 | -1 (VB350) ¥940
22 422124 |27°Y)v%" (VB350) ¥1, 520
23 422132 | 7" ¥47° (VB350) ¥1, 980

KEFHTIA, TEXDRRIF, a—FNoERBZHARTKCESVET LS. BEVLELET,
XmBBNEROGE. EMBEEMCGYET,

~v|4VY9|vwW|VYW|™W|W|™TW|WW|™UW| V|| W|TW|OW|T™TW|OW|™TW|OW|™W|TOW|T™OW|TO|TO|TO

BHEERARL AH/EREBIRX AS5-12-7 TEL:03-3638-6911 FAX:03-3638-6921
Bkt v & —/ERiE BRI T PR X K AFRET1348 TEL:053-485-6181 FAX:053-485-6180



	1
	2
	3
	4
	5
	6
	7
	8 (2)
	2 (2)

